LeChatelier’s Principle

STRESSful examples ©

1. For the HABER REACTION, identify as many ways as possible in which the
equilibrium concentration of ammonia gas can be increased in a closed vessel :

N.(g) + 3H.(g) < zl\lltls(g) +92.4 kJ
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For the followmg reactions, show clearly how each stress will affect the

concentrations of each reactant and product, which way the equilibrium will shift to
offset the stress, and the net effect on the Keq value.

2.
2SO0, (g) + 0,(g) = 2504(g) +kJ
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3. GH,(g) +k = xéf) +2H, (g)
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4. CHs (8) +50, (8) = 3CO, (g) + 4H.0 (1) + kJ
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